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Probability Practice and Old Review
	1.  Consider the DIFFERENCE of two dice.  (The table is filled in for your convenience.)  Determine the following probabilities. 

	a)  P(difference = 2) = 

b)  P(difference is prime) = 

c)  P(difference is at most 1) = 

d)  P(difference is at least 3) = 

e)  P(both die are the same) = 

f)  P(at least 1 die is a 4) = 

g)  P(exactly one die is a 4) = 

h)  P(difference is odd) = 
i)  P(difference = 2 | difference is prime) = 

j)  P(difference is 2 or 3) =


	k)  P(difference is odd and prime) = 

l)  P(at least one die is 2 and difference is odd) = 


	2.  Mattel Toy Company’s new Barbie toy doll has an updated wardrobe.  She has 3 blouses:  2 red and 1 blue, and she also has 5 pairs of pants:  1 yellow, 3 green, 1 white.  Make a tree diagram to show all possible outfits (one top and one bottom).  

	3.  Joe plays a game where he spins a spinner divided into 3 equal regions (red, yellow, green) and throws a 4–sided die (numbered 1 – 4).  Make an area diagram to show all possible outcomes. 

	4.  Shakira considers playing the game “The Wheel of Misfortune.”  She must spin the same number twice in order to win.  She could win $10, $50, or $100.  The probabilities for winning any of these amounts are as follows:  P(winning $10) = 0.3, P(winning $50) = 0.2, and P(winning $100) = 0.04.

	a)  What is the expected value for the game?


	b)  Suppose the game costs $20 to play.  Should Shakira play the game?  Explain.

	5.  Identify the type of conic section.  Rewrite the equation in standard form.  Graph the equation.

	a)  
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	6.  Solve for all solutions of x and y.  Your answers maybe be real and/or complex.

	a)  
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